Stem

1. Fill in the blanks

A.

The stem helps in movement of water.

Herbs complete their life cycle within or
Climbers use a special structure called to climb.
The plant's growth habit develops from Patterns.

2. True or false

A.

Some trees are branchless.
The lifespan of a tree is very long.
Climbers grow vertically.

Money plant is an example of climbers.

3. Matching/unscramble the words:-

Seasons.

Column A Column B
. Trees A. eerrepsc
Il.  Herb B. mesrbilc
1. Shrubs C. erets
IV.  Climbers D. ursbhs
V. Creepers E. rebh




4. Answer the following questions

A. What is trunk? Explain it with examples

B. How do the plants or trees get minerals and water? Explain it with diagram

C. What s the difference between Creepers and Climbers? Provide examples

D. What is the difference between Herbs and Shrubs? Provide examples
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